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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheel.

I-  Some vegetarians are not just indifferent to meat; they have a/an --- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --—-------- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ------ imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.,

1) vacuous 2) vivid 3) cyclical 4) careless
4-  The singer's mellifluous voice kept the audience --—---—-—-- for two hours,
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be ----meemeev to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found ---------=-- , he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8- The old sailor's skin had become wrinkled and --
sun and the wind.
1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the ---------— of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

--- from years of being out in the
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10- That is 100 —==—veeeeen an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ====eeaneev
spatial reasoning. and the results were published in Narure. They gave research
participants onc of three standard tests of abstract spatial reasoning (12) -—=-seeeenee
cach of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart. verbal relaxation instructions, and (13) —=———eememm- . They found a temporary
enhancement of spatial-reasoning, (14) --——=-amx -- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) -- -- the music condition is
only temporary.

11- 1)in 2) for 3)of 4)on
12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience
13- 1)silence 2) was silent 3) there was silent  4) of silence
14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

| PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The mouse has three paired major salivary glands, the largest of which is the
submandibular gland, which is a prominent feature subcutaneously in the ventral neck.
All the glands are composed of lobules and have a tubuloalveolar structure. The
sublingual and parotid glands lie lateral to the submandibular glands with the
sublingual gland in the more cranial portion. The mouse also has a number of minor
salivary glands which are not distinct encapsulated structures like the major salivary
glands but are embedded in their associated tissues. They are therefore usually
sampled incidentally with the tissues they are associated with — for example, tongue,
pharynx, palate.
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16-

17-

18-

19-

20-

All salivary glands are composed of ‘secretory end pieces’ which are acinar or
tubular arrangements of glandular epithelium which empty via boll or intercalated
ducts and striated or intralobular ducts into excretory or interlobular ducts ending
ultimately in the oral cavity. In the submandibular gland of the mouse the secretory
acinar cells are pyramidal with a mixed seromucous, basophilic cytoplasm and basally
located nuclei. There is testosterone-dependent sexual dimorphism in the
submandibular glands of mice. In males the acinar cells may contain more zymogen
granules and more strikingly the cytoplasm of the convoluted ducts (which connect the
intercalated and striated ducts) contains much more prominent eosinophilic granules.
Mucous cells can be demonstrated with alternative stains, for example Alcian blue.
which stains the granules blue.

The intercalated duct cells have a low cuboidal lining. Striated ducts have
apically arranged nuclei due to basal invaginations of the plasma membrane, which
enclose vertically arranged arrays of mitochondria and give rise to the striated
appearance. Sialoliths or small calculi and foci of inflammatory cells may be found
incidentally in the salivary glands of ageing mice.

Which of the following structures could be found in the most cranial part of the mouse
neck?

1) Parotid salivary gland 2) Sublingual gland

3) Submandibular gland 4) Palatine salivary gland

Which of the following Kinds of associated tissues in mice does not include the minor
salivary glands?

1) Pharyngeal 2) Lingual 3) Laryngeal 4) Palatine

All of these statements about the submandibular gland of the mouse are true, EXCEPT

1) it has columnar mucous-secreting cells with pale cytoplasm

2) it is a major salivary gland in mouse

3) it has a testosterone-dependent dimorphism

4) it has mixed seromucous acini with pyramidal cells

Striation due to basal arrangement of mitochondria in which of the following ducts is
evident?

1) Interlobular ducts 2) Interlobar ducts

3) Intercalated ducts 4) Intralobular ducts

Which of the following best describes sialoliths?

1) Small canals in salivary glands 2) Presence of mucus in saliva
3) Stones in salivary gland 4) Inflammatory cells in saliva
PASSAGE 2:

The lungs are present in the thoracic cavity and are covered by the visceral pleura. The
functions of the lung include gaseous exchange and neuroendocrine functions. The left
lung lobe in the mouse forms a single lobe whereas the right lobe is divided up into the
cranial, middle, caudal and accessory lobes. The conducting tract of the lower
respiratory system consists of the trachea. which gives rise to the two main bronchi at
the tracheal bifurcation. The term bronchus refers to airways below the trachea, the
walls of which contain cartilage. smooth muscle and submucosal glands. The
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bronchiolar mucosa is lined with columnar, ciliated epithelium and Clara cells and
lacking submucosal glands. The bronchi divide to form secondary bronchi. then
bronchioles and terminal bronchioles and alveolar ducts. The extrapulmonary bronchi
in the mouse have cartilage rings and intrapulmonary bronchi in mice do not have
cartilagenous rings. In the mouse lung, the terminal bronchiole leads directly into the
alveolar duct with no recognizable respiratory bronchioles.

The lung arises from the laryngotracheal groove. The embryonic phase of lung
development begins with the formation of a groove in the ventral lower pharynx. the
sulcus laryngotrachealis. The lung bud or true lung primordium emerges ventral to the
caudal portion of the foregut. As the lung bud grows, its distal end enlarges to form the
tracheal bud. The tracheal bud divides into two primary bronchial buds. The two main
bronchi develop with the smaller bud on the left and the larger one on the right. At the
same time the future trachea separates from the foregut through the formation of
tracheoesophageal ridges, which fuse to form the tracheoesophageal septum. In the
mouse, three stages of development are recognized in the embryonic lung.

21-  Which functional role does not concern the lungs?

1) Air conduction 2) Gaseous exchange
3) Neuroendocrine roles 4) Enteroendocrine role
22- In the epithelium of which respiratory airway the Clara cells can be found?
1) Trachea 2) Bronchiols 3) Bronchi 4) Alveolar duct
23- In the lungs of mice, which of the following parts of the conducting tract is not
observed?
1) Alveolar ducts 2) Secondary bronchi
3) Respiratory bronchioles 4) Terminal bronchioles
24- All of the following statements in relation with the characteristics of the lungs in mice are
correct, EXCEPT---ceeemmmmanaen,

1) they have no cartilagenous rings in extrapulmonary bronchi
2) their bronchiols do not have any submucosal glands
3) terminal bronchioles are directly connected to the alveolar duct
4) they possess subdivided right lobes and a single left lobe
25-  Which structure is the origin of the tracheal bud?
1) The distal end of the lung bud
2) The tracheal bifurcation
3) Caudal portion of the foregut
4) Primary bronchial buds

PASSAGE 3:

The urinary system comprises the paired kidneys, urinary bladder. paired ureters and
urethra. The murine kidney demonstrates similar structures to those of other
mammalian species and many animal models of human kidney disease have been
developed by researchers. Mesodermal cells immediately adjacent to the intermediate
mesoderm form the urogenital system, comprising the gonads, the sex ducts and the
renal nephrons. The development of the mouse Kidney is characterised by the
formation of three paired embryonic kidney structures called the pronephros.
mesonephros and metanephros. These three paired kidney structures develop from
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26-

27-

28-

29-

30-

mesodermal cells although the former parts degenerate leaving only the latter which
develops into the adult kidney. The definitive adult kidney develops through a series of
inductive interactions between the uteric bud and the surrounding metanephric
mesenchyme. The tubules of the mesonephros do not form part of the permanent
kidney.

The Wolffian duct (also known as mesonephric duct) is a paired organ found in
mammals during embryogenesis. It connects the primitive kidney Wolffian body or
mesonephros to the cloaca and serves as the foundation for certain male reproductive
organs. The ureter buds from the Wolffian duct and the urinary bladder is formed
partly from the endodermal cloaca and the Wolffian ducts. The metanephric
mesenchyme develops into the renal vesicle, which forms the functional kidney.
Collecting tubules and primitive glomeruli can be recognized from about embryonic
day 14, at which stage the kidney starts to produce urine. Well differentiated cortex
and medulla containing glomeruli and nephrons can be distinguished from about
embryonic Day 16. The kidney continues to mature anatomically and functionally over
the first five to six weeks of life in the mouse.

The term “murine” refers to which of the animal groups of the mammalian species?

1) Equines 2) Ruminants 3) Rodents 4) Carnivores

All of the following organs develop from the embryonic mesoderm, EXCEPT
1) Kidneys 2) Ovaries 3) Testes 4) Intestines

Which of the following embryonic structures develops into the mature or permanent
Kidney?

1) Metanephros 2) Paranephros

3) Mesonephros 4) Pronephros

The Wolffian duct may be alternatively called----—-eeeeeeeeee,

1) endodermal cloaca 2) metanephric mesenchyme
3) mesonephric duct 4) metanephric duct

When does a mouse produce urine for the first time?

1) During embryogenesis 2) After birth

3) Embryonic day 16 4) Embryonic day 14
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